XFH BEZRITA-EEI-2

BETEZTN ESI

NO.2 E2X:0) /8 =

® ROBEEZXRITXZEFEIRTIV, (BMALZTEL LI, )

® a Mo 6 fZIZfEIAD,

@ b L ®9 % AL,

©) X mo 2 # (FfEmbH,

@ 5 km » x %lE fAmd,

® x AD Y % IFAAD,

® BRAOKEEIESEBHARE ¥ Ho 4 %z 5 45 ThHhs,

BRADRE A,

@  HHEE x ADITSRAD 54 %PEFD YL EDLFOAEITMAD,

SEEH |15 %OREK o gliaINZEEnEIRAgh.

BRTREAZREFETY > b



X MEERTR—EE -2

iz
9 9% = 0.09 0.09 b L
@ 6 ao (M) @ ° ©
EQ e q b L
|00
® 2# = 02 02 x (m) Frzlz |
x (m)
5
@ X
x % = 0.01 x =
|00
5 km = 5000 ( m )
5000 X 0.0l x = 50 x ( m)
EQ S X
5000 X = 50 x ( m)
|00
® y
y % = 0.01 y =
|00
0.0 x y (A) F-E xy
(A)
|00
® 4 % 5 5 = 0.45 45 q
|00 20
0.45 «x (M) F =12 g
— x (M)
20
@ 54 27
54 % = 0.54 = =
|00 50
0.54 x (A) F =12 27
—x (A
50
15 3
15 % = 0.15 = =
|00 20
0.15 a (g) Frzig 3
— a (g9)
20

BECEAZPEFETY > 2



